Scitani

Odcitani

Nasobeni

Déleni

Zaokrouhlovani

Rozvinuty zapis

Ciselnd osa

Nula

séitanec
sCitanec
soucet

mensenec
mensitel

rozdil

Sinitel
Cinitel
soudin

délenec
deélitel
podil

0,1,2,3,4..doll
5,6,7,8,9 .. nahoru

pamétné
500 + 800 =1 300

800 + 500 =1 300

pamétné

7 000 - 3 000 =4 000

pamétné
5-12=60
12-5=60

5- 10= 50
5- 100= 500
5-1000=5000
pamétné
84:6=14

2000: 10=200
2000: 100= 20
2000:1000= 2

na desitky
na stovky
na tisice

852196 =8-100 000 +

pisemné
569
31
600
pisemné
815
—-125
690
pamétné
719 53
- 4 .25
2 876 265
106
1325
pisemné
15389:3=5129zb.2
03
08
29
2
1750 = 1750
751 = 180C
51 = 2 )

-10 000 +2 - 1 000 +

+1-100+9-10+6 -1
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Nula nedéli ani
v nedéli!




